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XERER HF4 3 - 1 1

ERFR BARFER HF4 6 - 5 1

ERFR BEFRFER EF4 2 - 2 0

P ERFR EHFFER HF4 3 - 3 1
BAER HF4 8 - 6 3
HEXEIZa=r—av R HF4 3 - 3 2

&% = 25 - 20 8

TOTER EF4 5 - 4 1

I—Ow -7 A HEE EF4 2 - 1 1

Eldivdeas =) HF4 3 - 2 0

XA 2P ER XERIEFR HF4 5 - 3 2
BRAT17EHR HF4 31 - 27 6

DI HRPH HF4 39 - 30 2

&t = 85 = 67 12

BUA%H EF4 4 - 3 1

S EFEH T4 37 - 27 3
RrEEH HT4 53 40 29 6

&t = 94 40 59 10

ey REREH HT4 17 - 11 7
&t = 17 - 11 7

AMREER BARBGIRE HT4 2 - 1 0

AMREER HERBMBIRE HT4 3 - 2 0

=ifTER FRFRE HT4 0 - - -

B =ifTER EfiTEReE HT4 0 - - -
=ifTER THAUEERE HT4 2 - 2 1

ERRER HT4 13 - 7 1

&t = 20 - 12 2

HEEH EF4 4 - 4 0

BBRAR—YEH HT4 0 - - -

. RiEFH HT4 0 - - -
HERR—YEHR EHT4 2 - 2 1

RR—Y L Sr—T R AV MER EF4 13 - 10 1

&t = 19 - 16 2

e RETAOA LR EF4E 7 - 6 4
ait = 7 = 6 4

R EHT4 6 - 5 3

HRBIEFR EHT4 3 - 3 1

B MEER EHT4 8 - 6 5
jld=22 ) EHT4 8 - 4 4

&t = 25 - 18 13

TERF R EF4 34 - 27 6

THRIETFE AVEL—SSATER EF4 18 - 16 3
&t = 52 - 43 9

At EHT4 18 - 15 12

SRR EHT4 18 - 1 11

- ERITEH T4 1 - 1 1

BEFHTEH EHT4 0 - - -

EREFIHH EHT4 20 - 15 13

MRS EHT4 10 - 6 2

Tem BEEH EF4 39 - 30 15
TARIZH EHT4 4 - 3 2

REIER EHT4 1 - 7 4

BART R EF4 43 40 29 22

bl 2 ) EF4 13 - 10 10

MZEFEPR MEFHFER T4 5 - 5 3

EREKIZH EHT& 2 - 1 1

&t = 184 40 133 96
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S BrEn HF4 26 - 17 6
&t = 26 = 17 6
TBERATAT7HR T4 17 - 15 4
HIAHY IO T TER HF4 8 - 6 4
THEBIEFER BEVRTLIEH HF4 8 - 5 4
BIERYMNT—UITER HF4 12 - 8 5
&t = 45 = 34 17
PR HF4 2 - 1 1
REHRFHR HF4 2 - 2 1
EEIRT PR HF4 2 - 2 2
KEFR EMEEFER HF4 0 - - -
BIEPE KEZFH BERHPER HF4 1 - 1 1
BEEMPR T4 4 - 4 2
fETEH BFEER HF4 0 - - -
s TER BEEBMIPER HF4 1 - 1 1
&t = 12 = 11 8
B BEEH HT4 1 - 1 0
&t = 1 = 1 0
RrEEH HT4 36 - 27 9
REPE B|AEDRRER HT4 10 - 8 5
&t - 46 - 35 14
BRBFHBILH EFE | 3 - 2 2
HBTHE EFAEILTHR HT4 0 - - -
&t = 3 - 2 2
IS FREMR PR HT4 2 - 2 1
e IS AEMREHR HT4 0 - - -
AT AT RER HT4 0 - - -
&t = 2 = 2 1
g AE R R HT4 1 - 0 0
— B2z —av$R HT4 3 - 2 2
THAUXLER EHT4 1 - 1 1
&t = 5 - 3 3
EMER EF4 4 - 4 3
EWFEE EEEMRER EHT4 2 - 1 1
&t = 6 - 5 4
e - 674 - 495 218




